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Candidates have been called for written test based on the data furnished by them in the online

application. If you do not possess the required qualification as per our advertisement, your candidature
will be summarily rejected.
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Candidates should read carefully the instructions in the Question Booklet and OMR Answer Sheet
before start answering.
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The question paper is in the form of Question Booklet with 80 Objective type questions based on the

curriculum, carrying one mark each with four options indicated, out of which only one will be
unambiguously correct.
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Candidates have to select the right answer by darkening the corresponding bubble on the OMR answer
sheet by blue / black ball point pen, only as per the instructions given in the OMR answer sheet.
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Candidates should write their Name and Roll Number in the space provided in the Question Booklet.
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A separate OMR sheet is provided for answering the questions.

feh NTAIR Iea¥ IRAH &1 7N & Thel fFT ST T §, SHAT SocRkT & HeTA/Teraen FHd
AT ¥R FraunEt sl S gl H15 ifaRed AR e gae @@ @ SreEi]

As the OMR answer sheet is being machine scanned, utmost care should be taken while handling /
bubbling answers. No spare OMR sheet will be provided.

ve g & ¥ g I W AR v gRas F15 (A/B/C/D/E) 1 3 @ IR e ofie &
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Question Booklet Code (A/B/C/DI/E) printed on the top right corner should be written in the
space provided in OMR Answer Sheet.

YAF oA 1 37 H ¥, Ik o & W YT 3% AR I ek F T 0.33 e 3w R
99T T Teh A 3HHh I Ield el AT AT

All questions carry one mark each, zero mark for no answer and negative 0.33 mark for a wrong
answer. Multiple answers for a question will be treated as a wrong answer.

qdeT el & 3T Forpeicy, ATSd B, TAC AW, §s8e, FeH oo, THIvTh dIfcier, Farl
TS HI AT S 3T SolFglerh Joie of S HT gAY G el ARG W gry g AT A 3w
gl &7 F Ay A & Swel AR W MwHAINR # Hedihe A6 R Seem R |
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Calculators, mobile phones, smart watches, headsets, reference books, logarithm table, Camera / Spy
Camera or any other electronic gadgets will not be allowed inside the Examination Hall. If caught red
hand, they will not be permitted to write the exam and such OMR sheet will not be evaluated and legal
action as deemed fit will be initiated against such Candidates. Instructions in this regard, already
published in our website may strictly be followed.

U9 UF H 3Ty TATS & 3YART I6 & & fov Far 31 gehdr gl

Space available in the Question Booklet can be used for rough work.
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3o ofie PleTs #1 gUE #X & qur s geeiee wf st arue ur @ A 3w AR ofie
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On completion of the written test, tear off the OMR Answer Sheet along the perforation mark at
the top and hand over the original OMR Answer Sheet to the Invigilator and retain the duplicate
copy with candidates. Utmost care should be given while tearing the OMR Sheet.

3Rt @ oleT WA g % a6 Shad GleT g Sise @l AL ¢

Candidates will be permitted to leave the Examination Hall only after completion of the examination.
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aifge| e 3eafidl & gaur 97 oae @ A FiOr §, 3 3 o 3R e W oHpaied & fav
R =T T SireaT| yar I foem Rl 3ratherdr & qddeTE & dive @ ey 3T # g

After the Examination, candidates should hand over OMR Answer Sheet and signed Admit Card to the
Invigilator. OMR Sheet of candidates, who have not handed over the Admit card to the invigilator, will
not be considered for evaluation. Responsibility rests with the candidate to hand over the admit card to

the invigilator without fail.
3T 3 TEROT & Al B & Ui AT SUeT, gidifeh 3FHGant & giawr & faw fedr
o yeaT feuw arw g

The questions in English version alone will be taken as authentic though questions are given in Hindi
also for the convenience of the candidates.
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daaiae &Y (Ffi@ee) / TECHNICIAN ‘B’ (MACHINIST)

o O G RuRE A
The quenching oil viscosity shall be

(a) AT / Normal (b)  HEIH / Medium
(¢) 3=d / High (d ®H / Low

Ted a7 Rad T & @8 e ¥ 91

Fill up the blanks with the correct word in the following statement:

"ol TR ISt ——— ¥, ofdher ve g Ao B
“Electricity is a good ——————, but a bad master”.

(a) Far / Energy (b) ¥IF / Servant
(c) «TFd / Power (d) FAEIH / Medium

Tl Az &1 RINT AR TSR GarT & arg o
The mines act was originated by Government of India in

(a) 1948 ®) 1952
(c) 1986 (d 1951

INeT B3T F g ATT Pl & [oT FH FolluL &1 3YANET THar Siar &

For finding centre of round bars which caliper is used?

(a) @& HfATT / Outside caliper (b)  3AR® HfI / Inside caliper

(c) 9=l HfeluY / Jenny caliper (d) YR / Dividers

gUlS &1 S AT HET FF F T4 gldr 872

Which portion of hammer is not case hardened?
(a) UET / Face (b) @ / Pein

(c) 9meT / Cheek (d &Y/ Head
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10.

BT AT & sois FHr T g §
The pitch of fine grade blade is
(a) 1.8 @ / 1.8 mm (b) 1.4 &/ 1.4mm

(¢ 1.0 A/ 1.0 mm (d 0.8 B/ 0.8 mm

200 AT ofarS arell gl e Wise & fov, 100 TAHAT &r S8 W we o J&T §

For a second cut file with 200 mm length, the number of cuts over the length of 100 mm
18

(a) 17 b) 16
() 15 (d 14

e ¢32H6/ p, =t aRRT FHY)

Define the fit ¢32 H6/ p,

(a) FelrgiH e / Clearance fit

(b) EIAT e / Interference fit
(¢) AT e / Transition fit

(d) 3FT F F Hg 7767 / None of the above

A 3 foe Fior §1
Standard drill bit angle is

(a) 60° () 900
(g) 1@8 d 118

I 39 Tere U S g 1 B §, ar e el

If the pitch of a double start thread is 1 mm then the lead will be
(a) 1 AT/ 1 mm (b) 2 e / 2 mm

(¢ 0.5 # / 0.5 mm (d 4 @A/ 4mm
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11.

12.

13.

14.

15.

HfeeRier TR ial A 3HA gl g § o JfFer s ¥ ———— @ FA
I H HAeg el gl

Most reamers have uneven spacing of teeth which help to reduce ————— while
reaming.

(a) TAT / Peel-off (b) wUT F AW / Seratch marks

(¢) YI&9sT / Roughness (d) FUeT / Chattering

e et o arieh & # FeiRa fear)

The fundamental deviations determined the —————— of assembly.

(a) HgIWeIdT / Tolerance (b) 3T dd H#T / Maximum limit

(¢) #goIdd AT / Minimum Limit (d Tc / Fit

Teh 1T T FeaAlora $20 [0y &, A faaeled &I 0= ¢
The tolerance of a part is $20 300 calculate the fundamental deviation

(a) 0.05 (b) 0.03
() 0.02 (d)  0.08

25-50 TAHAT afelar 3m3carss AEHA & et D 12.5 A § 3R 26487 Rewa o=
Ul § 3R 637 afelzR aSeT TUTAT §1 9T $T gEdideh 3T 4T &7
In a 25-50 mm Vernier outside micrometer the barrel reading is 12.5 mm and

26t thimble line coincides and 6th vernier line coincides. What is the actual size of the
part?

(a) ¢12.76 (b)  $12.766

() ¢37.766 (d) ¢37.76

HTARFT 93 =ard arel FEAl Sl ——— o1 GanrT FARNTSIT [har ST FehdlT ¢
. Parts having extra large diameter can be accommodated by ——— lathe.

(a) ¥X T / Centre lathe

(b) HUFesT Tg efe T / Capstan and Turret Lathe
(¢) 3T 93 FY / Gap bed lathe
(d) IuadT o / CNC lathe
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16.

i 7

18.

19.

20.

oY T ogd PUseT ——— A ST Bl g
The live spindle of lathe is attached in
(a) Terecis / Tailstock (b) &S Ti® / Head stock

() @RS/ Carriage (d) E TE8 / Cross slide

PISATFE T FAT F &7
What is the function of feed shaft?

(a) @IS Eh # afFa gaRd # & T / To transmit power to lead screw

(b) HIg Tollss # AFd TAIRT el & ToT / To transmit power to cross slide
(c) Rl & ofed TaRa s & T / To transmit power to carriage
(d) 83 T § afFa TIa s & T / To transmit power to head stock

3UHOT ¢l Feleh Y @ g8 Tie & 3N Henferd giar gl

tool operates from tail stock end towards head stock.

(a) ST & T 39T / Left hand tool
(b) gIfger 8T HT IYEHIIT / Right hand tool
(c) 3id-shIcal I 39a0T / End-cutting tool

@ % fdg 39sIOT / Multi point tool

WS X T W S5 FellIH HIU — BT AT

The side clearance angle needs to be ——————— when the feed rate is increased.

(a) deorl g3 / Increased (b) & fRar g3 / Reduced

() TP / Constant (d) T / Varied

S Fea H Afd 30 Hied/fFee AR 3RAva 200 § dF g F I FE F J@a H

Find out the diameter of job in mm when the cutting speed is 30 m/min and rpm is 200

30x1000 30x7
@ =300 ®  T500x200
%200 30x200
(c) (d)
30x7x %1000
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21.

22.

23.

24.

25.

26.

FATOIIT IS Flcad h TFT AT & afemr ag vv —— &3

Knurling is not a cutting operation but it is a ————— operation.
(a) 3189 / Dyeing (o)  9fder / Punching
(c) I / Forming (d) HIfSTT / Forging

Al IR H 9T I ATET |

The amount of taper in Jarno taper is

(a) 0.6” (b) 0.8”

(0 04" d 0.7

AT aRa TAg Teg AT A HETF 3HR F sy fr rar & —— &hgr
ST B

The act of joining the slip gauges together while building to the required size is called

(a) ST / Joining (b)  FUSAT / Wringing

(¢) TASTT / Combining (d) TAOTHS / Building up

112 FEIHT & g 97 I A, 0.5 T & o & Iy 0.5 e T 24.5 e g Al
F@T H Traelt wear # ffaq Aar 39erey g7

In a slip gauge set of 112 nos, how many nos. of slip gauges are available in the third
series from 0.5 mm to 24.5 mm with a step of 0.5 mm?

(a) 48 (b) 49
() 50 (d 51

AU oI5 T H il T URT 3T HUAT ST 872
Which thread is provided in lathe lead screws?

(a) HHITfceh 4@ / Metric thread

(b) T Hegdlel UM / White worth thread

(¢) g9 & / Square thread

(d) TFH 4 / Acme thread

Told hi¥eT Fufeler & fhg 4@ &1 wIReT [Far srar g2

Which thread is used in railway carriage couplings?

(a) #fee 4@ / Metric threads (b)  TFH Y@ / Acme thread
(c) &¢H YT / Buttress thread (d) sl 9[@T / Knuckle threads
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27.

28.

29.

30.

31.

32.

T Tolitedr AMT &, HiAEass

(a)
(c)

V - sdlleh &7 39T

95 / Bed
guie drferdl / Rotating table

V — Blocks are used for holding

(a)
(c)

IATTT / Rectangle
e / Round

TS Elieal Tof H, Fea & gard ool &

In a slotting tool, the cutting pressure acts along the

&8 / Length
SAH ° Tﬂ'é 8l / None of these

(a)
(©)

Al / Width
&S / Depth

9 9 BT &l

In a slotting machine, the cross slide is mounted on

d= / Saddle

Fletd / Column

& T F HIAT &
of the tool.

SR & it @ TS & T Rear S ¥
type of parts.

TIRIOT / Triangle

AHTAITAT / Irregular

gedlede Talsd A, I N grdr & F&ar § AR D Vg oo §, o sad Ry §

In involute spline, if ‘N’ is the number of teeth and ‘D’ is the pitch dia, then the
diametrical pitch is

(a)
(©

g dIAe 5/ W ad ¥ arsg Aol &, Sgenar

The temperature at which the vapour is given off from the oil is called

(a)
()

0 AR Fex Oed Y & -y ok «w o gid 8 § 3¢

D
Dx N

31f3sT fdg / Fire point
gR ©arge / Pour point

ST &1

= =z|o

ol2l warge / Flash point
FUATH / Boiling point

Milling cutters which have the teeth one the end as well as one periphery are called

(a)
(b)
(c)
(d)

CTole] TATelT &eX / Plain milling cutter

arss fAfeRT #eX / Side milling cutter
% fAfeer #eX / Face milling cutter
Us AT Fex / End milling cutter

780-TN(M)



33.

34.

3b.

36.

37.

Teh fATRRT e #, gfaded Ty I & ——

& ¥ & gRea Far = g

In a milling cutter, the secondary clearance angle is defined as

(a) TR Tag & 3mSR / Shape of milling surface

(b) &9 ¥IH =T 3SR / Shape of chip space

(c) TRIcE & 3M&R / Shape of chips
(d) 3T T FIS 7L / None of these

SIS T AT &
The melting temperature of Tungsten is

(a) 3000°C (b)
(¢) 3370°C ()

HET Flal hr fehar & H0T &1 381 Far orar &

In hardening process, the part is cooled

(a) ¢ &/ Slowly
(b) oSl & / Rapidly

(c) HEIH ®T ¥ / Moderately
(d) 3WFT F & FIS 767 / None of the above

1510°C
723°C

Ifg I TS F el T 337 fFar oMU, af AT A3 TEeT & g orar § o

If the hot steel is cooled rapidly, the austenite changes into new structure called

FEd &

(a) Yerse / Pearlite (b)

(¢) HA=ese / Cementite (d)

T3S SHSAT H Cich &l SHS &

The unit of Torque in ST units

() 938 g %< / Pound force foot (b)

() +Ycd HieX / Newton metre (d)
9

ATEH éE [/ Martensite
Wrse / Ferrite

T elidey / New millimetre
el #HeX / Kilogram metre

780-TN(M)



dTaHT &I TS "Hicas" H Ul & B g & yAlEAE dmHs &
& ®7 # gReniSa fFar =r gl

The unit of temperature “Kelvin” is defined as —————— of the thermodynamic
temperature of triple point of water.

1 1
® 37 ® 97316
1 1
i
© 37326 @D 7336

50° &I 3T H Scol

Convert 50° into radian

55 50
(a) 63 (®) B3
63 63
22 d 28
(c) = (d) 55
3 5
ffed —+——— & AT AT HIfaT
12 8 16
. . 3 5 7
Find out the value of a fraction — +——-—
8 16
21 21
(a) E (b) EZ
3 33
2 1 o8
(c) 5 (D) 18

529 I e AT HIfd
Find out the square root of 529

(a) 23

(b) 33
(¢ 13

(d) BIH ¥ FIS 787 / None of these

Teh T Telld H, I <O & ofeg & 39T D : L= 1:15 el §1 o9 sier samw @
10 TA#Y & 3R &« 300 @ &, o 581 =39 D’ AT Hifew

In a taper sleeve, if the ratio of diameter to length D : L = 1:15 mm. Find out the larger
diameter ‘D’ when smaller dia ‘d’ is 10 mm and the length is 300 mm

(a) 20 Mb) 30
(¢ 10 (d 40

10 780-TN(M)



43.

44.

45.

47.

T el SafFd #T add 3T ¢ g1F dded & 0.1% &H gl SIar &1 3T adAT ddeT
FAT § 519 ¢ BIF dd«T . 1,00,000/- §?

If the salary of a person is reduced by 0.1% of his take home salary. What is his current
salary when the take home salary is Rs. 1,00,000/-?

(&) ¥ 99,900 / Rs. 99,900 (b) ¥ 99,000 / Rs. 99,000

() ¥ 99,950 / Rs. 99,950 (d) ¥ 90,000 / Rs. 90,000

T ¥ % H AW AT HIfAw

Find out the value of ‘¥’ from the formula

g T+3-2-6
8-6+2

(a) 0.5

(b) 5

(c) 0.05

(d) 3RFd § T FS 7871 / None of the above

[IAA hael A Yol & &9 A Tohdd WA 1 39ATT fohar Srem g2
What material is used as insulators in submarine cables?

(a) 9% / Rubber (b)  arfeier / Varnish
(c) TETUET / Gutta percha (d) vert¥es / Plastic

U 31T gty &I FA1S T 0T HY ST oS 6 QT e 4 JT, 'ecg 8 AH/AA
3R geAT 384 AT B

Calculate the height of the given cuboid when the length is 6 cm, width is 4 ¢m, density
is 8 gm/cm? and mass is 384 gm

(a) 2 ¥H/cm (®b) 43 /cm
(© 3@/ cm d 108/ cm
LT IS HEIT N4 HT Ra’ Hl &1 7

What is the ‘Ra’ value of the roughness grade number N4?

(a) 0.8 (b) 0.4

© 0.2 @ 0.1

11 780-TN(M)



48. 3T Hdg WAy urcd R & v —— gferar &1 g &Far sar 2

For getting high surface finish, ———— process is selected.
(a) <191 / Turning (b) AP / Grinding
(c) ATYr / Shaping (d) fAfeser / Milling

49. ST Eher AT yomel F Tl RufY Fr arfher cafar &

In grinding wheel marking system the 4th position marking denotes

(a) 3T9a¥eE / Abrasive (b) I / Grade
() EITAT / Structure (d) & / Bond
50. T R HX AR H ——— &M 39497 M7 Ll & $F & TuF & AU gds
ITFdadT aid 1 T Rufad 7 gad=r ¢ & fov o arar B
In tool and cutter grinder —————— is used to support each individual tooth in the
correct position for contact with the face of a grinding wheel.
(a) <l / Table (b)  TU & / Tooth rest
(¢) @Terd / Column (d) &l 85 / Wheel head
51. () @ udlier sanadi RAvar & BFE § @1 gefdr ¥?

The symbol Q’ denotes which form of geometrical characteristic

(a) UHATHRIUT / Concentricity

(b) IR RAT / Roundness
(c) SeldARRAr / Cylindricity

(d) HHAFYAT / Symmetry

52. T U5 HASHIHACT H TATdel A=l dTel Bg &l SR —— BT &l
In screw thread micrometer the shape of anvil measuring face is
(a) MR / Spherical (b)  =FaeR / Conical
(c) 60°V 7@ / 60°V groove (d) FAJA / Flat

A 12 780-TN(M)



53.

54.

55.

56.

57.

59 50 T & @ @ &R S/Ie dsT § AT ST B, A g Eaonad e 7 g ¥ 3R
SIS W 22 AU o {IY Aol @it § 3 L.C 0.001 T &, ar qot 3mame a=m 82

When a bore of 50 mm is measured with a bore dial gauge, the needle moved in clockwise

direction and coincides with 22 graduations on dial and the L.C is 0.001 mm. What is the
absolute dimension?

(a) 49.978 (b)  50.022
(c) 49.78 (d) 50.22

dR &1 STH ATd el & o0 T e &7 9ART fFar Srar &7

To find out the diameters of wire which gauge is used?

(a) WIeR 35T / Feeler gauge (b) 9 ST / Wire gauge

(c) TeId IS / Plug gauge (d) 31 I / Ring gauge

3ol & QAT feig aior R

The usual point angle in drill is

(a) 108 (b) 118°

& 110° (d) 102°

Hiuadr #eier § Fufaea aéerar 3k agus degar HI IYAET Hh
AT ST &l

In CNC machines the positional accuracy and repeatability are measured using

(a) S A5 / Dial gauge

(b) oIS SEXWIHICT / Laser interferometer
(c) EIWUT gyalel / Alignment telescope
(d) T IS / Slip gauges

UF 3THE g3 A, IR HF A v ga gART T, o Rdser 9° gEar §, o Ruse @
2° dh gA & AT, sheh el el 33t &1 glar @nfge?

In an indexing head, if the crank is turned one rotation, the spindle rotates 9°, then for
rotating the spindle for 2°, how much degree should be the crank rotation?

(a) 40° ®  60°
(¢ 80° (d) 120°

13 780-TN(M)



58.

59.

60.

61.

62.

63.

I & P s uTHTT & 38T T &

Alphabet letters from I to P used to indicate

(a) g / Soft (b)
(¢ %¢ / Hard ()
Uh HP = — gl
One HP=——— Watts.
(a) T46 W (b)
(0 T5W (d)

I3 F 3P A £

grade of wheel.

HAEIH [ Medium
AT / Moderate

735 W
750 W

ol ST # fhder Bfoee Bwiftae waremgsr (31€0) it smaegshar @ 872

In circular interpolation, how many digital differential analysers (DDA) are required?

(@) 4 (b)
© 3 (d)

Sehiicel WA fafer &, CNC o & forw, 36) ‘W fFa 3787 7 gafdr 87

2
1

In incremental programming method, for CNC lathe, the letter ‘W’ denotes for which

axis?
(a) X 3787/ X axis (b)
() Y3787 / Y axis (d)

rpm T IOTAT &Y oI dleed &l Afd V' 55 Hieyf@ere § 3N <ara 35 e &

Calculate the rpm when cutting speed V' is 55 m/min and diameter is 35 mm

(@) 500 (b)
(¢) 350 (d)

ISO A & AR, ¢ gede H &Afdse & d 3R L

=i B
As per ISO standard of specifying tool insert, the letter ‘L’ denotes shape
(a) @3 / Square (b)
(¢) ISR / Rectangular (d)
14

7 38 | Z axis

Uedl 3187 / Rotary axis

250
450

HHR &l

e / Round

YEHOMT / Hexagonal

780-TN(M)



64.

65.

66.

67.

The
(a)
(b)
(©)
(d)

P YT ¥ 7T T aF H g B

is the distance from the work zero to machine zero.
3URIUT THAC / Tool offset

qg 3HTHAT / War offset

R JHHAE / Work offset

AT HTHAT / Machine offset

'CNC #:ie & forw Aefaf@a & & sad 9T F7 997 &y

Select the wrong statement from the following for a ‘CNC’ machine

() HA ARE FF / Less manual work

(b) 31TOh shterer $T 3mazgerar A&7 & / More skill is not required

(c) hH HEF / Less accurate

(@) 31 =fer / More flexible
%ﬁﬁaa@gmﬁawwmaﬂiaﬁa@mmm&
ETCICIN

The silicon nitride based materials with aluminium and oxygen as addition is called

(a)
(b)
(c)
(d)

Res HE185 / Sintered carbide
fareiisT / Sialon

A+ / Ceramics

TuHTH / HSS

m%ﬁ%ﬁﬁﬂ%@ﬁﬁmﬁ@ﬂﬁﬁwasmaﬁ

Choose the wrong statement from the following regarding factors affecting tool life

(a)

(b)

(©

(d)

S $IE &Y ¥ S g, ar gol °gh hdH &l ST & / When feed rate is increased,

tool life is decreased

ﬁﬂﬁﬂﬁl’é’ﬁ?{m%’,Fﬁ@\ﬂmmﬁm%’IWhendepthofcutis

increased, tool life is decreased

ol W [affes ifder @ ol °I3% &H g Sl § / Various coating on the tool

decreases the tool life

St RP9se a1fa 9¢ e &, dl ool IS % g Sl & / When the spindle speed is

increased, tool life is decreased

15 780-TN(M)



68.

69.

70.

R

T2.

ASRAT 819 arell TaTFHART & Ugel IW-IWIG T TSIl HlaAT Hgdlidl &

Organising maintenance before the needs being developed is called

(a) 83 WIWEE / Breakdown maintenance
(b) TaR® IW@T / Preventive maintenance
(c) 3—@3@'&' IE{@rg / Scheduled maintenance
(d) FUNcHS IWIEIT / Corrective maintenance

Sad R & = s & 0 &Y g Alsge 2 & aue) § 3R gidl $ dedr 20 §
IR o o wior 45° §

Calculate the pitch diameter of bevel gear if the module is equal to 2 and number of
teeth is 20 and cone pitch angle is 45°

(a) 10 A/ mm (b) 20 fA#T / mm
(¢) 40 T&H/ mm (d) 30 @A/ mm

Te TFIRR Her (AH) & S 8T &
One Ampere hour (AH) is equal to
(a) 360 FelFs / coulomb (b) 3600 shef#e / coulomb

(¢) 60 Fels / coulomb (d) 1800 FefF / coulomb

80 3& IR 10 3N & & iRy FARTR # 52 gC &1 A F P FaT R H
IUTT &Y

Two resistance of 80 ohms and 10 ohms are connected in parallel. Calculate the total
resistance ‘R’ in ohms

g 40

@ 7o b) o
1

© 10 @ 18

FATHIT & Glfgel &1 & g H doleil fhaehT ferrm geimdr &7

In Flemings Right Hand rule, the fore finger show the direction of
(a) HEFeX Fr AT / Motion of the conductor

(b) ?:!:EI@I‘H 9darg / Magnetic flux

(¢) ©RT / Current

(d) 9RUMHAT o / Resultant force
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73.

74.

75.

76.

ST ST & HI0T T90T & HoT ¥ HOF & ar 3§ Fed ¥

When the angle of inclination is more than the angle of friction, it is called
(a) FeMfEer a¥uT / Sliding friction

(b) TIHH T AT / Angle of repose

(c) ©YUT & ELFUTW ! Co-efficient of friction

(d) T 89T / Rolling friction

80 fHeam &1 U o Tt Uk AT der W @ A ¥l S w€r qonE 0.3 ¥ ar
TE] P IAAET W F AU e g7 & maeasdar 37

A solid weight 30 Kg is placed on a horizontal plane. How much force is required to move
the part when the co-efficient of friction is 0.3?

(a) 9fFam/Kg () 100 fFaT/ Kg
(¢) 90 fRaT/ Kg (d)  30.3 M/ Kg

HiCT Tefgs & IO & Ao F eaafaf@a & F aora FuaT &1 @t Y
Select wrong statement from the following regarding properties of cutting fluid
(a) udTg RufRdEe / Sufficient viscosity

(b) 3= IrYIEROT &X / High evaporation rate

(c) 39T <T&r ST TIRT / Should not catch fire

(d) T &1 e7a-fera el FLT TIRT / Should not corrode the work

fretfaf@a st & @ 3aR & Bl R a0 awc & Iecarmsr & S A A
YR AT FES A 10 AT §

TATATCR BIEN 3T ‘@’ 4 W &

aE e wAr ¥

Find out the centre of gravity of a given trapezium from the base with following
dimensions.

Base length ‘A’ is 10 cm

Parallel small side ‘@’ is 4 cm

Height ‘A’ is 6 em

(a) —— €111 (b) E cm
18 7
3 5

(C) E cm (d) ? cm
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79.

80.

oy T 1 EATRIOT ey o AR e gl
The centre of gravity of an object depends on it’s
(a) ddleT / Weight (b)  ¢cTHAT / Mass

(¢) 3HPR / Shape (d)  GrHAT / Material

10x* — 3y" & & 6x2 — 4y "W
Subtract 6x? — 4y from 10x* - 8y°

(a) 4x® -5 (b)  4x®+y°

6 ~—dx® —of (d  4x® + 7y

4 THEAY I arell Ush T $H 88 W 40 fRalend 97 &Kl -7 &1 YRa dag &1 gar

|

A steel rod of diameter 4 mm is loaded with 40 kg of load. Find out the stress induced

35 11
@ 17 ®) 35
70
© g5 @ =

TRETT YT & 3JAR TET HAleTd GIET IS Gl
Choose the correct human safe guard as per safety procedures

(a) @rel &% / Loose cuffs

(b) Dol IEICICT aga & / Overall too long
© Fe Ao Far / Overall correct

(d) @ 3]\?-\( [ Lightweight shoes
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w= F8 & foru v / Space for rough work
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H= HH & [0 ¥ / Space for rough work
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